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Solve the following differential equations

() (1+ y? cos{xy))dx + (xy cos(xy) +sin(xy)dy =0

(b) y'=3y' =~ -2t
WA= (20 o)
Determine whether S = {(4,3,2),(0,3,2),(0,0,2)} is a basis for R Ifitis, write u=(8,3,8) asa
linear combination of the vectors in 5.

W= (20 %)

Use Laplace transform to solve x(f) and p(f) of the following differential equations,

x"=3x"—y ~2x+
{ ’ f" y y , x(0)=0, x'"(0)=0,and y(0)=-1.
X'y =2x—-y

wEavg - (20 o)
0, —mr<x<0

Find the Fourier series of the function f(x)= { .
x? , O<x<m
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3 I 1 -3
A7 = s _» , please compute (24)7" .
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